tg(’2 * arcctg 3) =?=tg(x/2)

arcctg 3 =x, x93 (0;P) =>x/2 3 (0;P/2)
ctgx=3

tg(x/2)=a

ctgx=3

tgx="

Ys=2a/(1-a"2)

a’2+6a-1=0

D/4=9+1=10

al,2=-3+-V10 -- noaxoanT TONbKO C NIIHOCOM

a=-3+V10

NPOBEPUTb PABEHCTBO
sin?2(arctg3 - arcctg(-2))="%

sin?2(arctg3 - arcctg(-72))="

arctg3=x x09 (-P/2;P/2)

tgx=3

arcctg(-2)=y y 9 (0;P)

ctgy=-1/2

sin?2(x-y)=(sinxcosy-sinycosx)"2

siny=a

ctgy=-"

1+ctg”2y=1/sin*2y => sin*2y=1/(1+ctg"2y)=1/(1+"4)="%
sinx=t

tgx=3 => ctgx="53

1+ctg”2x=1/sin*2x => sin*2x=1/(1+ctg"2x)=1/(1+1/9)=9/10

sin2(x-y)=(sinxcosy-sinycosx)"2
=sin2x*sin2y(ctgy-ctgx)*2=%*9/10(-"2-
¥3)"2=36/36"25/50=="/

BEPHO




